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UESTION 1..(4 points) Let A = . Convince me that A is not djn nolizable.
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QUESTION 2. (4 points) Let A be ¢ 4 x 4 matrix such that Ca(a) = (0 - 2)*(a ~ 3)*. Given Ea =

span{(3,0,0,0), (0,0,4,0)} and £y = span{(0,2,0,0}, (0,0,0, 1)}. Find an invertible matrix (2 and a diagonal matrix
D such that A = @DQ~". Then find the matrix A, [Hint: Stare u-E:ally well and choose your D wisely!, then you may
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QUESTION 4. Let A = -4 =2 —0l.
-2 -1l
() (4 points) Find the L.U factorization of 4.
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(b)(4 points) Use (2) to find the solution set 10 4 (z } [ J
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QUESTION 5. Let A = _1 —a 8.
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(n) (4 paints) For what values of a, b, c will the matrix A be invertible?
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(b) (" points) For what values of a, b, ¢ will the system AT [Il} = [OJ have unigue solution?
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QUESTION 6.8 points) Let A= || o 5
0 1

} » If A is dingnolizable, then find an invertible matrix Q and a dingonal
-4

mutrix D such that 4 = QPQ-!,
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